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actual.... Original
enlarge/reduction.....scale →

Scale Length = Original x Scale FACTOR

Scale Factor is   7
                         5

A picture has length of 15 cm and a width of 15 cm, find the 
dimensions of the ENLARGEMENT picture.

1) 
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2) The length of a model car is 21cm

The scale factor is 0.5

What is the actual length of the car?

original Length = Scale Length ÷ Scale FACTOR
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Scale factor = scale length
                       Original Length

Scale Length = Original x Scale FACTOR

original Length = Scale Length ÷ Scale FACTOR
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Quiz Time
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